SAP ABAP table OIUBL IMBWC {Well Completion Imbalance}

OIUBL IMBWC-OWN NO = LFA1-LIFNR
———————————————————————————— LFA1

0.N ["MANDT [CLNT (3)]
LIENR [CHAR (10)]

OIU_CM_MAT PRCD
0..N [ MANDT [CLNT (3)]
MATNR [CHAR (18)]

OIU_CM_PINTTY

OWN_INT_TYPE_CD [CHAR (2)]

OIU_PR_DN
MANDT [CLNT (3)]
DN_NO [CHAR (20)]

OIU_PR_ WC
MANDT [CLNT (3)]
WL_NO [CHAR (15)]
WC_NO [CHAR (5)]

o OlIU_PR_WELL
7 0.N |MANDT [CLNT (3)]
WL NO [CHAR (15)]

OIU_SB_BLRSN
MANDT [CLNT (3)]
TXN_CD [CHAR (3)]

TOO06

MANDT [CLNT (3)]
-~ 0.N [MSEHI [UNIT (3)]




